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Subject Code : 101

Q Answer

Subject .
Exam Date Questions Key

Code Id

Who among the following is considered as the
'Father of artificial intelligence'?

(A) Charles Babbage
101 28-02-2020 1 (B) Lee De Forest ©
(C) John McCarthy

(D) JP Eckert

Which day is celebrated as World Computer
Literacy Day?

(A) December 2
101 28-02-2020 2 (B) December 20 w
(C) January 2

(D) January 20

Full form of VIRUS is
(A) Vital Information Repository Under Seize

101 28-02-2020 3 (B) Virtual Information Repository Under Seize ©)
(C) Vital Information Resource Under Seize

(D) Virtual Information Resource Under Seize

Name of the city in the world known as ‘Big
Apple’?

(A) New York
101 28-02-2020 4 (A)
(B) Paris

(C) Oslo
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(D) Jerusalem

The film that won the most awards at the Oscars
2020

(A) Joker
(B) Toy Story 4
(C) The Lighthouse

(D) Parasite

Choose the correct alternative which can be
substituted for:

A list of books
(A) Catalogue

(B) Biography

(C) Autobiography

(D) Agenda

What is the synonym of
"Prevailing "

(A) winning

(B) existing

(C) popular

(D) implemented

Select correct word
(A) benefficiary
(B) benificiary

(C) beneficiary

(D)

(A)

(B)

©
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(D) beneficery

What is the antonym of " Host"

(A) visitor

(B) arranger (A)
(C) manager

(D) entertainer

Fill in the blanks:
My father was angry ...... my failure.

(A) in

(D)
(B) on

(C) with

(D) at

Find the statement that must be true according to
the given information.

When they heard news of the hurricane, Maya and
Julian decided to change their vacation plans.
Instead of traveling to the island beach resort, they
booked a room at a fancy new spa in the
mountains. Their plans were a bit more expensive,
but they'd heard wonderful things about the spa and
they were relieved to find availability on such short
notice.

(D)
(A) Maya and Julian take beach vacations every
year.

(B) The spa is overpriced.

(C) It is usually necessary to book at least six
months in advance at the spa.

(D) Maya and Julian decided to change their
vacation plans because of the hurricane.
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Reptile is to lizard as flower is to
(A) petal

101 28-02-2020 12 (B) stem ©
(C) daisy

(D) alligator

Look at this series:

36, 34, 30, 28, 24, ... What number should come
next?

(A) 20

101 28-02-2020 13 (B)

(B) 22

(C) 23

(D) 26

Here are some words translated from an artificial
language.

tamceno means sky blue cenorax means blue

cheese aplmitl means star bright Which word could
mean "bright sky"?

101 28-02-2020 14 (A) cenotam (B)
(B) mitltam
(C) raxmitl
(D) aplceno
A walks 10 metres in front and 10 metres to the
right. Then every time turning to his left, he walks
5, 15 and 15 metres respectively. How far is he
now from his starting point ?
101 28-02-2020 15 (B)
(A) 10 m

(B)5Sm
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(C)12m

(D) 15m

A person walking at 4 Kmph reaches his office 8
minutes late. If he walks at 6 Kmph, he reaches
there 8 minutes earlier. How far is the office from
his house?

(A)41/5 km

101 28-02-2020 16 ©

(B)2 1/5 km
(C)31/5km
(D)5 1/5 km
The breadth of a rectangular field is 75% of its

length. If the perimeter of the field is 1,050 m, then
area of the field is:

(A) 65,000 m?
101 28-02-2020 17 (C)
(B) 62,000 m?

(C) 67,500 m?
(D) 68,500 m?
If 25 men can finish the work in 12 days, 30 men
can finish the same work in how many days?
(A) 12 days
101 28-02-2020 18 (B) 10 days (B)
(C) 15 days
(D) 20 days

The ratio of the two numbers is 3 : 4 and their sum
is 420. The greater of the two numbers is......

101 28-02-2020 19 (©)
(A) 175
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(B) 200

(C) 240

(D) 315

The average weight of a group of boys and girls is
38 kg. The average weight of boys is 42 kg and
that of girls is 33 kg. If the number of boys is 25,

then the number of girls is.......

(A) 20

101 28-02-2020 20 (A)

(B) 33
(C) 38
(D) 22
Reusability of ABAP dictionary is NOT supported
by the object-----
(A) Data elements
101 28-02-2020 21 (B) Sub-domain (B)
(C) Table

(D) Domain

Which layer is NOT used in R/3 system?
(A) Control Layer

101 28-02-2020 22 (B) Presentation Layer (A)
(C) Application Layer

(D) Database Layer

ABAP Query is used to
(A) Create table

101 28-02-2020 23 ©
(B) Select data
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(C) Create reports

(D) Create design

Transaction code to create a QUERY
(A) SQ12
101 28-02-2020 24 (B) SQ1 (D)
(C) SQO5
(D) SQO1
Which ABAP keyword allow the user to enter a
single value on a selection screen, use the ABAP
(A) SELECT-OPTIONS
101 28-02-2020 25 (B) PARAMETERS (B)

(C) RANGES

(D) DATA

Which system variable returns global time?
(A) SY-DATUM

101 28-02-2020 26 (B) SY-UZEIT (B)
(C) SY-TIMLO

(D) SY-DATLO

Logical destination is stored in table
(A) RFCDES

101 28-02-2020 27 (B) LODGES (A)
(C) RLODES

(D) RFLDES
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.............. attribute is invalid for a domain
(A) Type
101 28-02-2020 28 (B) Fixed values ©
(C) Header
(D) Length
In ABAP objects, methods can have the following
parameters except
(A) Tables
101 28-02-2020 29 (B) Importing (A)
(C) Exporting
(D) Changes
Garbage collector removes an object from the
memory as soon as

(A) The object is cleared

101 28-02-2020 30 (B) The garbage collector method is called on the ©)
object

(C) No more references point to the object

(D) The object is instantiate

Inheritance is a relationship in which

(A) One class inherits all the main characteristics
of another class

(B) One class inherits only the methods of another
101 28-02-2020 31 class (A)

(C) On class inherits only the attributes of another
class

(D) One class inherits all the private characteristics
of another class
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The property of a protected component is that it is
(A) Visible to all

(B) Only visible from within the class and within

101 28-02-2020 32 the subclass

(B)

(C) Only visible within the class

(D) Direct access

Events are registered using commands
(A) Event register

101 28-02-2020 33 (B) SETH handler (D)
(C) Create handler

(D) Set handler

The track available for analysing the performance
of R/3 system is the following except

(A) Enqueue trace
101 28-02-2020 34 (B) Buffer trace )
(C) SQL trace

(D) Spool trace

The following are client independent objects
except

(A) SAP script layout
101 28-02-2020 35 (B) Structure (A)
(C) Domain

(D) Search Help

For cut over data migration from a legacy system
101 28-02-2020 36 to a newly implemented SAP system, which among (B)
the following methodology is best suited if the
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volume of data is more than 50000 records?
(A) LSMW

(B) BDC

(C) Manual entry

(D) SE16N

In addition to the primary key of an internal table,
how many secondary indexes can you define for an
internal table
(A) 15
101 28-02-2020 37 (A)
B)O0
O 1

(D) 10

Search help cannot be attached to
(A) Domain
101 28-02-2020 38 (B) Field of a table (D)

(C) Check table

(D) Type

Full buffering would be appropriate for

(A) Transaction table
101 28-02-2020 39 (B) Small static tables (B)
(C) Internal tables

(D) Tables with generic keys

In inner and outer join

101 28-02-2020 40 (A) Buffers are always used (B)
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(B) Buffers are always bypassed
(C) Choice of buffer can be made to use

(D) None of the options

Which of the following is not a T-code associated
with SAP Workflow

(A) SWIA
101 28022020 41 b owwr (D)
(C) SWi2_FREQ

(D) SWLU

To restore a workflow that has hung due to short
dump

(A) Execute SWPR
101 28-02-2020 42 (B) Execute SWPC ®

(C) Hung instance cannot be restored

(D) Retrieve the workflow to create a new instance

The below statement is true for LDB_ PROCESS

(A) It prevents calling of more than one logical
database from the same program

(B) It calls a logical database from another
program

101 28-02-2020 43 (B)

(C) It only allows invocation of one logical
database once from the same program

(D) None of the options

Which of the following is NOT a table type in SAP

101 28-02-2020 44  (A) Transparent table (D)

(B) Pooled table
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(C) Cluster table

(D) Transaction table

Which of the following is not a message type
(A) A - Abend

101 28-02-2020 45 (B) C -Continue (B)
(C) E - Error

(D) I- information

Lock mechanism provided in which work process
(A) Dialog
101 28-02-2020 46 (B) Update ©
(C) Enqueue
(D) Spool
Which among the following is true for SAP
memory?
(A) Is available during the entire terminal session
101 28-02-2020 47 (B) Can be accessed only within an internal session (A)

(C) IMPORT FROM MEMORY can be used to
read data

(D) EXPORT TO MEMORY is used to write data

What table is used to store all the Message Class
Texts?

(A) TOO1
101 28-02-2020 48 (B)
(B) T100

(C) TO0O
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(D) TO10
Which of the following may NOT be modified
using the ABAP Dictionary transaction?
(A) Type groups
101 28-02-2020 49 (B) Search help (D)
(C) Lock objects

(D) Function groups

A DO loop increments the system field ---------
(A) SY-LOOPI

101 28-02-2020 50 (B) SY-TABIX (D)
(C) SY-LSIND

(D) SY-INDEX

What will be output by the code below?

DATA: num type I value 5.
write: num.

WHILE num> 4.

write: num.

num= num - 1.

101 28-02-2020 51 ENDWHILE. (D)

(A)5

(B)54

(C)554

(D)55

If itab contains 20 rows, what will SY-TABIX

equal when the program reaches the WRITE

statement below?
101 28-02-2020 52 ©)

SY-TABIX = 10.
LOQP AT itab.
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count field =
count field + 1.
ENDLOOP.
WRITE: /1 count field.
(A)0
(B) 11
(C) 20
(D) 30
What will the output of below program.
DATA: var TYPE i VALUE 2.
FIELD-SYMBOLS: <fs num> TYPE i.
ASSIGN var TO <fs_num>.
WRITE: / <fs_num>.
<fs num>=4.
WRITE: / var.
(A)
(A)24
(B)22
(C) Syntax error
(D)4 4
Table which cannot be used with join condition in a
select statement
(A) MARA
(B) BKPF ©
(C) BSEG

(D) RBKP

ABAP keyword to attach a custom search help in
selection screen

(A) Matchcode object (A)

(B) At selection screen
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(C) ovs

(D) Parameter

To create ALV reports web dynpro, which
component is required.

(A) SALV_WD_TABLE
101 28:02-2020 56 (B) SALV_WD_TABLE_USAGE )
(C) CL_SALV_TABLE

(D) CL_SALV DISPLAY SETTINGS

What is the right sequence of event trigger in
Webdynpro?

1 WDDOINIT of Component Controller

2 WDDOINIT of View
3 WDDOINIT of Window

101 28-02-2020 ST ()3, L2 (©)
(B)1,3,1
(C)1,3,2

(D)2, 1,3

How to Display current Pages in Smartforms
(A) &SFSY-FORMPAGE&

101 28-02-2020 58 (B) &SFSY-JOBPAGE& (D)
(C) &SFSY-COPYCOUNT&

(D) &SFSY-PAGE&

To display text and data in table format in a smart
form you can use:

101 28022020 59 (A) Table (©)

(B) Template
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(C) Both table and template

(D) None of the options

----- views implement an inner join
(A) Database views

101 28-02-2020 60 (B) Projection views (A)
(C) Help views

(D) Maintenance views

Which of the below sentence is false.

(A) The name of a pooled table cannot exceed 10
characters.

(B) All key fields of a pooled table must have
character data types (for example, CHAR, NUMC,

CLNT).

101 28-02-2020 61 (©)

(C) Pooled tables can only be processed using
Native SQL directly in the database.

(D) The total length of all key fields or all data
fields of a pooled table must not exceed the length
of the Varkey or Vardata field of the corresponding
pool.

Which method or function module used to display
ALV in a container.

(A) set_table for first display() class
CL GUI ALV_GRID
101 28-02-2020 62 (A)
(B) REUSE ALV _GRID DISPLAY
(C) REUSE_ALV_LIST DISPLAY

(D) Display() in class ¢l _salv_table

Dialog modules called in the PBO event are used
101 28-02-2020 63 to ©)
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(A) Check the user input
(B) Trigger appropriate dialog steps
(C) Prepare the screen

(D) Choose functions in the application

?=1s called ----- Operator
(A) Casting operator

101 28-02-2020 64 (B) Assignment operator (A)
(C) Logical operator

(D) Invalid operator

To create a t-code for TMG using SM30, which
option you choose

(A) Tcode for a report
101 28-02-2020 65 (B) Teode for a dialog screen ©

(C) Tcode for a transaction with parameter

(D) Tcode for a method in class

FM to read Long text in ABAP
(A) Read data

101 28-02-2020 66 (B) Read_text (B)
(C) Read form

(D) Get_text

T-code to create implementation of an
enhancement

101 28022020 67 (A)SMOD (B)

(B) CMOD
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(C) CMOS

(D) None of the options

Table lock can be removed using the below t-code?

(A) SM59

(B) SM35 (D)
(C) SE10

(D) SM12

Which among the following option is a
functionality of a search help?

(A) It acts as a virtual table and helps in retrieving
data

(B) It creates the data group types in dictionary ©

(C) It defines the possible values for the fields of a
table

(D) It helps in data synchronization

Which methodology is used in development
projects for transporting the changes in ABAP
workbench across SAP systems and clients in a
landscape?

A) Customizing Requests
(A) g Req ©)
(B) Process Blocks
(C) Change and Transport Systems

(D) Function Groups
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